
Урок математики по теме: 
«Четные и нечетные числа»



3 Х 2 =  6

2 Х 6 = 12

4 Х 2 = 8

16 : 2 = 8

18 : 2 = 9

2 Х 7 = 14

12 : 2 = 6

2 Х 5 = 10





Найди лишний предмет





ЧИСЛА

Четные – 
делятся на 

2

Нечетные 
– не 

делятся на 
2

4, 6, 8, 10 3, 5, 7, 9



1     2     3     4     5     6    7     8     9     10

                 4             8           12         16           20

          2            6           10         14          18



(78 – 39) + (92 – 47)

60 – (85  - 56 + 19)

(26 + 54 - 31) + 15

34 +(96 - 69) - 57



Длина – 3 дм
Ширина – 2 дм
Р пр. - ? дм
S пр. -  ? дм2
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Х 5

- 2

: 9

-36
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20 +2040 -36 4 : 22 +9 11



: 5

10

-462 +5658 12 : 2 6



Лестница достижений


